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1) 

2) If , then the period of the circular orbit is:



3) Period of a Circular orbit @ Earth's surface:



Velocity:
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4)


It obeys Kepler's 3rd law, which states that .


6) No, You cannot see Antarctica from a Geo orbit because the earth's gravity would pull the satellite and eventually crash to the surface.

7) Radius @ Perigee=  1.5= 9.57
      Radius @ Apogee=  3= 19.14 x

Velocity @ Apogee = 3.73 km/s
Velocity @ Perigee= 7.44 km/s

Period vs. Semi-Major Axis	58343000	107710000	149600000	227390000	777900000	1427200000	2869290000	4496910000	5900140000	2102.4	5431.2	8760	16468.8	104068.8	258069.6	736453.2	1443823.2	2177736	



Period^(2/3) vs. Semi-Major Axis	58343000	107710000	149600000	227390000	777900000	1427200000	2869290000	4496910000	5900140000	164.1132194598305	308.98011497386494	424.94827513527059	647.30352237672435	2212.4851505490001	4053.4476245873157	8155.1152390918714	12774.463722358816	16801.065320879843	
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Mercury 5.83E+07| 2102.4] 164.1132195
Venus 1.08E+08 5431.2 308.980115
Earth 1.50E+08 8760 424.9482751
Mars 2.27E+08 16468.8 647.3035224.
Jupiter 7.78E+08 104068.8 2212.485151
Saturn 1.43E+09 258069.6 4053.447625
Uranus 2.87E+09 736453.2 8155.115239
Neptune 4.50E+09 14438232 12774.46372
Pluto 5.90E+09 2177736 16801.06532





